Answer Key to Review

1. 2x+2y=5 2x+2(4x}=35 y=Vax Solution (2, %)
y=Yix 2x+%x=5 y=%(2)
2%Bx=35 y=11
x=2
2. dx+y=-2 4x+y=-2 4x+y=-2  Solution (-%4, 0)
2x-3y=1 = 2(-2x-3y=1) » +-4x-6y=2 4x+0=-2
0-5y=0 4x =-2
y=0 x=-%
3.y=x+2 y=x+2 y=x+2 y=x+2 Solution (3, 5)
2x—y=1—> y=2x-1 2x—1=x+2 y=3+2
x-1=2 y=5
x=3
See graph for #4 on reverse side.
5. s: number of student tickets
a: number of adult tickets
s+a=292 s+a=292 s+a=292 89 adult tickets
s+3a=470 - s+3a=470 s+ 89=292 203 student tickets
0-2a=-178 s =203
-2a=-178
a=289
6. x: number of nickels
y: number of dimes
X+y=10 > y=10-x 5x+ 10y =85 x+y=10
5x + 10y =85 5x+10(10—-x)=85 3+y=10
5x+100—-10x =85 y=17
-5x+100=285
Sx=-15
x=3 3 nickels

7 dimes



7. x: smaller #

y: larger #
4 +2y=4x 4 +2y=4x x+y=10
x+y=10 5> y=10-x 4+2(10-x)=4x 4+y=10
4+20-2x=4x y=6
4 and 6 24 - 2x =4x
24 = 6x
4=x
4 \ ¥~ 5"' .
7 4. x+y=7 > y=x+7
m=-1b=7
E=y==l =% y=x+]
X 7 » m=1 b=l
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‘ // Solution: (3, 4)
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